
A body is thrown vertically upward such that it crosses the same height after 2 

sec. and after 8 sec. What is the value of the mentioned height? 

mentioned height equals: 

ℎ =
𝑣0

2 − 𝑣1
2

2𝑔
 

where, 𝑣0 – initial speed, 𝑣1 – speed after 2 sec. 

𝑣1 equals: 

𝑣1 = 𝑣0 − 𝑔 ∗ 𝑡0 

where, 𝑡0 = 2 𝑠𝑒𝑐 

Therefore: 𝑣0 = 𝑣1 + 2𝑔 

In another side: 

2𝑣1 = 𝑔 ∗ (𝑡1 − 𝑡0) 

where 𝑡1 = 8 𝑠𝑒𝑐, therefore 𝑣1 = 3𝑔 

𝑣0 = 𝑣1 + 2𝑔 = 3𝑔 + 2𝑔 = 5𝑔 

From first equation: 

ℎ =
𝑣0

2 − 𝑣1
2

2𝑔
= 𝑔 ∗

52 − 32

2
= 80 𝑚 

Answer: 80 m 
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